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Chapter 2 Extra Review - Unknown Angles

1. In the accompanying diagram, lines aand b are
parallel and line cis a transversal. List a pair of

alternate interior angles AL A f5
corresponding angles 12z, ?4"". 645, 5¢¢

alternate exterior angles l < g 17 4 3

same side interior angles 286, 594

2. In the diagram below of two parallel lines cut by
a transversal, m£1 = 5x + 12 and m42 = 7x.
Find me1.
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5€+ 12+ F%= 180
12X+ 12 = (%O mel= B
Y= |68
X= JH

3. Which choice below may not be used to name
£AIR?
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(3) 25V [ zral )

5. The number of degrees in the measure of each of
a pair of vertical angles formed by two intersecting
lines is represented by 6x+ 10 and 5x+ 25. Find
the measure of one of these angles.

EX FIO = 5X+25

%= 15 a-alef'“' |0O

6. The measures of the angles of a triangle are 2x,
3x, and 4x. The measure of the /argestangle of this

triangle is Ch(
=180

= 90
s fhes L= D
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Part II:

7. Find the value of x. 2*37(:63« 8. Find the value of x.
werhad &3
Xz 135= %+ 2x-9
=20 135 3%-9 "
Y = 3x
2+3x
62 Y= L{g 1 135 2x-9
Part III:

9. Using the figure below and the given information, find the value of x and m£BOE. SHOW ALL WORK!

m£AOC = 101, msCOD = 44, m£BOC =70

B+ 70+ Y4+ X-18= 18D

X+ 27 15 B y
D
X:= 53 10 .
) 4 %18 292
. BoE = |H9 S = 2
Part IV:
10. In the figure below, AB and CD are straight lines that intersect at 0. EO L 4B.
Find the following and give a reason for each step. Comp £$
x=_30 XA+ 26-F =W : D
y= ;i Xz 305 X+8
T W B
venltcd Ls ol/2x-8
msBOF = :ﬁa \( - 2(30)_8‘ A y 52
- 52 54 / 4x-24
LBOF + 96+ 6= 180 % F
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